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Problem quickname: 2802

1)

Worksheet

Read the numbers from the diagram to

Amount(Cent)
Season | North | East
Spring 70
Summer
Autumn
Winter 100
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Read the numbers from the diagram to complete the table.

Volume(cm?)
City Morning | Noon | Afternoon
Taberg
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Oakes
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Brooks 200
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Create a table with headings. then put the values from the bar chart into the table.

Winter
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Read the numbers from the diagram to complete the table.

Area(m?)

City

Spring

Summer

Autumn

Noatak
Oakes
Hesperus
Arco
Killarney
Grandfalls
Weare
Suplee
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Good Luck!
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